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gogggooooooooobbbbbbbbobbbobobbbbbbbn
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OooooooboobooboobooboboboobooooooobobD »OO
gbobobuodbboobuogboboooobobuodgbobbooboonn
OO000o0oo0oooboob0oob0ooboboOobnbog Schrodinger O OO
gboodgboobbodobuoguudgbogoboobuooboobboon
gobooo

5.2 DiracO000000 (Dirac O00O0)

OO0000D00O0DO0O0OD00 Schrodinger 0000 DiracOOOOOOODO
Oobooobooooooboboobooboobooboboonb D Maxwell O
000000 (00)0000Dirac000000000O0OODOOODOOOO
obbooobuooobbooobbooobobooobobobooobbood
OO000oO0bo0obOo0bD0oobooooooOMaxwellOODOODOOOOOO
OO0Oo0bOO00obOobObOobDbO0obObo0obobo0obobo0oboO0On Lagrangian O
ObOoobooboobuoobuobuobd Diracd Lagrangian U 0O OO
goobooooooboobod

Maxwell OO OODOOODODO DiracOOOD0OOOOOODOOODOOODOOO
OO00ob0obOob0o0obob0oob0ob0oooboU biracObOOOOOO
gbobboogobobbooogbo



5.2. DiracO0OOOO0O (DiracO0ODO) 63

5.2.1 DiracODOOOOOOOOO

DiracOODOO0ODOODOOODODOODOODOOODOOODOOODODOO
000000000000000000000000000000 (Lorentz O
0)0000000000000000000000000OoO0OOo00ooo
gboboboogoobood

Dirac 000 0000000000000 O0O0O0DODOOOOOODO (DoOO
00)0000000E?=m?t+p?’200000000000000000
b0 mUoooboodbb pdbbuogobuoboobboonobuognbo
ObO0bO0b00ODiracOOD00O0OD0OD0ODOODOOOODOODODODOO
OboobooobobooooobobooobDbiracO0bObDOOobDOnDOO
goo

E? —p*®—m*c = (E—cp-a—mc®B)(E+cp-a+mc?B)=0 (5.1)

D000« d pgO0O00O0OO0OOODOODOOOO

(7)o )

O0o000oboobiU e0PadliDO0OO0D0OO0OOOOODOOODDOO
gbobobooboooobboboooob

_ ) (01 (0 —i (1 0
g = O'I,O'y,O'Z ) Oyx = 1 0 I Oy - Z O ) 0, = O _1

OO000ODiracODO0OO0O0OO0OOO0OODOODOODOOOOOOOODOODO

oW (t, 1)
ot
O00000o0oo0oooooodoo DiracO0OOO0OO0OOO0OOOOOO
Oo0000o0oooooooooooboooooooooooooonoon
O00ooooooooobooouoooooobooooobooodd Diracd

oon

(—ith ca+ mc2ﬁ> U(t,r)=ih (5.3)

ha\lf(t, r)

2
. 5, € :
—iheV - a + —— |V =
< iheV - o+ me” 8 r) (t,r) =1 e

(5.4)

gbboboooobbbooooboboboogobobuoooobbooogn
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5.3 DiracUUOUOU0OOOOOOO

gbbobooodgobbod

p— —ihV, - mgt (5.5)

OboobooobobooobdboDbiracUbObOo0obOobOOo0obOobDODOn
gogggogggoobibobbbbiobbbobbbbobbbbobbbn
Oo0bOO0oooooboooobbboobbbooonobbdMaxwell OO
goggggooggobbibobbbbiobbbobbbbobbbbbbbn
Oo00ob0bOobooooo0bOoboboobob biracUbObOOoODOoOoOO
Lagrangian U 0 0000000000000 O0OOOODOOO0ODOOO0OO
OoobobOoobobogoboooobD r=1, c=100000000000OO

5.3.1 0000 Lagrangian [ [J

D000 Maxwell OO OOOOOOOOOO0O0OODODODOO Lagrangian
oooooo

1
L= —gju A = JFu P (5.6)

000 A“000000000F* 0000000000000
Fr = gAY — ¥ A (5.7)

oobooboooooboo pOODLOOOOODDOODOODDOODOO
000000000000000FO

C9AY A0

FO1 _ 9041 _ 91 A0 — = _ R, .

0 0 py 5 (5.8)
O00000000000000O0OooOF?2o
DA?2  DA!

F2=91A2 _9?Al = 4+ = — _pB, 5.9

8x+8y (5:9)

00000000000000000000 Lagranged 0000
0, F* = gj" (5.10)

O0O00000Do0ooooooonooD A, ADODO MaxwelOOD OO
gbooooo
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5.3.2 0O0OOOOO

1
O00000 LagrangianO O QO 0O 00O —ZFWF’“’DDDDDDDDDDD
gobooboodgo

ox(t,r)

A,():AO_ ot ’

A'=A+Vx(t,r) (5.11)
1
000 x(¢t,r) 0000000000000 —EFWFWDDDDDDDDDD

000 x(t,7) 0000000000000 Lagrangian 000000 gj A,
00000000000000000000000000000

gi* Ay = gi* A+ 97" 0ux(t, ) (5.12)

000000000000 LagrangianO0 OO x(¢,r) 00000000 0OOO
gbbobooogbbbuoooobbboooon

5.3.3 000000 Lagrangian U [

OD000000000 Lagrangian OO OO OO0 ODOO0O0OOOO0OOOO
gobdbdobooodbdbodgoogbodgdoooogoabodoooan g, 0
0000y 0¢000000000000000D0D000O00DO0O000O0O0
Oy OOO0oooobooboooooobooboooobooboooooooooboog
gooo

W
REE

Y = b (5.13)
Wy

ot = (v vl oyl W) (5.14)

00000000 ¢y, 0000000000000000000¢ = ¢y
00000000000 Lorentz0 000000000

Yip (scalar), 1vy,0 (vector), s (pseudo —scalar), ¢v,75¢ (axial — vector)
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0000000 (o, 00000000004, 000000000 0Dirac
00000000000 00000000000000000

%z(é _01> 'y:(_oa g) (5.15)

gboobuooggboobbbuoogobbboooboboboooon

Ju = 1;%## (5.16)

gboobooogn
googbbobobobooboobboobobuoobooboboobobon

OO0 Lagrangian D O OO0 000000000 O0OOOOOOODOOODOOO

goooboooooood &au’y“wDDDDDDDDD

B _ 1
£:CW%¢%—9WWWW—Z&JW” (5.17)

000 ¢, 000000000 4,0 j,=+¢y¢ 0000000000000
0000000000000000000000000000

A=A, +0,x, YV =e "y (5.18)
ogoooon
_ _ 1 ,
L' =i oY — gy A — ZF,WFIM (5.19)

O000OxDO0O00O0 Lagranglan D00 0000000000y O0DOOO
O0000DboOb00O0 Gi=«000000000 LagrangianOO 000000
ObhoboboboobooboobuoboobOobb Lagrangian O 0O O

£ = 0,00 — mit — g AP — L Fy (5.20)

O00odob nO00000O00D0O0ODOODOO0ODODOODOO Lagrangian O 0O 0O
gboboobbuooooobob muobbod g0b0O0oobbooobon
gboooboooooobooooboon
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54 O0OOOOO

DiracUDDOUOOODODOOOODOOOODODDOUOOODLDOOODOOOOO
guogoooooobbobboooooa
0
= —ihV, E=1ih— 5.21
p=—ihV, E=ih; (521)
gogbbbbbuodooogoboboboobobbotbudobnboooooon
0000000000000 000 Klein-Gordon OO0 O0O0O0O0OOO0O0O

<§; - V34 m2> Y =0 (5.22)
D0000000000000000000000
E? —p* +m? = (—h?) (g; -Vt m2> =0 (5.23)
02
= <8t? -V 4+ m2> Y =0 (5.24)

goodgbogboobbobobogbuoobooboobboobboon
OO000bO0b0ob0obo0oooobodibKlein-Gordon O OOOO0OOOOO
gboogbobodbbooodgboouobobbooboobbooboobon
gbbbuoodgbobboooobbooodn

54.1 0OOOOOO

O00O0000000 Klein-Gordon OO OO

ot?

OO000000obo0oo0oobooOobOoOn Schrodinger OO OOOODOOO
02 0000000000000 Schrodinger 000

<82—v?+mﬁ¢_n (5.25)

oY

i5, = Hy (5.26)
00000000 Oow*000ooooo

OY” .

~i—, = Hvy (5.27)

OOooboobOooooooooboooboboobooboo yOoyroooog
gbooboogoon
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gbobobodgo

OO0D00O0OKlein-Gordon 0000000 » O00OD0O0ODOOOOOOOO
oboboooobboooobooobooobobooobobooobboon
oboobobooobbooobbuooobboooobboooboon
oboobobooboboobobobobobooobobobbooooLon
obboobbooobbooobooobbooobbooobboon
Schrodinger 0000000000 DO0OOOODOOOOODOOODOOOOO
0000 Schrodinger 000000000 O0OO0ODOOOODOOOOOOO

Ut r) = e Flo(r) (5.28)

gboogbobuogoobogobuodgbbooboobbooboogoboon
O Klein-Gordon 0 OO 00O ¢ OO000O0OO0O0OOO0OODOOODOOOOOOO
gboodgboobbodbuogboogbobobobboooboobboon
gobooo

gbooooaog

O0O000000D000000 Klein-Gordon DOO0O0O0O0O0O0OO0OOOO
gboboboooobbboooobbobooooboo

(=V?+m?) o(r) = E*¢(r) (5.29)

00000000000 E20000000000000000000000
OO0O0000000 Schrodinger 0O OODOO0OOODOODODOODOODOOO
gbodgbbobobodbuoobboobuooobbooboobobobon
gboboboooobbbooobbboooon

1 .
o(r) = ek (5.30)
O00000000000000000000000000 w = vVm?2 + k2

000000 0000000 /wOOOOOOODDODODOODOOOY(t,r)O

ot ) = le_we—iw—kﬂ (5.31)

oboobon
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5.4.2 0OO0OOO0O0OOOO Klein-Gordon OO0

rO000000000DOO0O00O00O0O0bOo0b00booboboo0g «0O
gobobboboobbobooubbbbuouuooooobobbbobbb DO
gboogobodbooboboobooboboboboobooooboonoon
Klein-Gordon 0 0000000000 DOOOOOOOOOOODOODOODOO
gbobgogbobobogboobuoobbuodobbooobobuobooon
0000000000000000000 (00)0000ooooooooo
OO0 DiracO00O00OD00OOO0ODO0ODOODOODO Klein-Gordon DO OOOO
gbbboooobbbuoogbbbuoooobbbuooobbbdao

1 )
Yt r) = —==e k) (5.32)

goboboooobbobooooon

54.3 U0OOOOOOOOOOOOO

gboodbogbboobboobogbouooboobboooboobobon
OO00b00DbO0bO0oooboooboobodMaxwellDOOOOODOOODOOO
00 A, 000000000000000O0C0O000O0O0O0O0C0O00000
gbhboboboboobboobobooobuoobbooboboooboonoon
gboodgbbobobodobooobogbboobbooboobboon
gbooboooooboooooboo

544 OU0OO0OOOOOOOOODOOO

MaxwellOOODOODODODODOODODOOOOOODOODOOOOODOODOOO
O0O0000O0D0O0OD0DO0O0D00O0O Lagrangian DO OO OOOOO0OoOO
00000000 Lagrangian O O O

L= ; LT (5.33)

gobboogobboboooobbobooo

£= 5 [(0x—igA)o'] [0 + igA*)e] (5.34)

1
2
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gobobodgg
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(2) Higgs OO OOOO

OO0 Higgs UOUDUODOO0O0O0ODO0O0OOO0OO0O0O00O0O0O0O00DOO Higgs U
gobooo

U(6) = up (616 — X?)° (5.35)
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oboobobbon

Higgs 0O OO OO0O
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OOo00oooboobO0obO0oboboboouoooogbo CERNODOOOoooog
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55 00000 (QCD)0DOOO

0000000000000 000000 (QCh)DD0oooooood
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00000000000 0OO0O0O0OO0oOoooOOoooOboOoobDoooboog
0000000000000 000000000O00000DO000o0oOog
O00DbO00O00DbO0ODO0D0O00bO0ODbO00ObOOobObO0ODOobDbOOoDOoDO
Lagrangian 000000000000 OOOOODOODOOQCDO Lagrangian
000 SUN.) OOODoOoOo

1
L= ("0 = 97" Ay = mo)v) — 5T {Gu G} (5.36)
00000000 G, 0000000000000
Gy = 0,A, — 0,A, +ig[A,, A) (5.37)

gooboooooboood

N2-1
A, = AT = Y AT (5.38)

a=1

0000000 70 SUN,)0OODDOO0OO000
[T, T = iC*T* (5.39)

00000000 C*00000000000000000 Lagrangian O O
gbobobooogbbobooogbon

Y= (1—igx) = (1 —igT*x"), with x =T\" (5.40)

A= A — gC™ AP X + D, X" (5.41)
0000 xOOx=x(tr)00O0OODO0DO0DD0O0O0O0O0O0OO0O0O0OO0OO0ODOO
O0000 Lagrangian D O OO0 OO 0000000 O0OOO0OOOOOO
O LagrangianJ 000000000000 DO0OOO0OO0O0O0O0OO0OOOO0OO
o000 00000000 A, 00000000000000000C0O00O
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gbobbogboobbodgboobbooboobobuoooobboobn
00000 (2007 0)00000 Lagrangian 0000 0O0O0O0OOOOOOO
gboodbogoboobbobobbobobogbuoboobobobboon
gboogobuogbbboguobobooboobbogbboobooon
gbboboogobbooad

5.5.1 OUOOOOOOOOOO

gooboboooooobbobboooooobobbboooooobobon
goggooboooobobobobobbbobbbobbbbbbbobbbbbn
00000000 HamiltonianO OO OO OOODOOO0OO0O0OO0OOOOOO
gbooobouoooobooo

QCDOOO0O

QebooboOooobooboooooobobooboooooboobobooboo
gobobooooobobboooobobobooooobobboooooboooo
gbuodgbogboogbbobboobogbugbooboobboon
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gboogobobooboobbobuoobbuoobbooboboboonn
gboodbogbboobbooboobuoobouobooboobboon
gbougboobboobudgboobbobobuooboobooobobn
OO000Db00O0000O0bO0bO0oobOooOoboDOobobooooQecboog
gbbbuoooobbbuooobbbuoooobood

goobooo

OO0 QChOOoopooooobooboboobooboooooooboon
QCbOOOo0obooooboboUobooooboboooobobobooobooo
gbodgbboobuodbboobubuooboobbbuoobbobobn
gouodgbogbboobboobogbuobooboooboobboon
gbogbobuogbobbogbobudgbbooboobbuooooooon
gobbdggoodgbogbboobuodbuogboobboobogboon
OOobooooooooooooboocboobooboooooooonbon
gbooboooogooo

OOobooboobobooooQecbooooobooooboboooogon
OO000Db0o00O00O0ob0obOoooooD0obooooboboboOoQebod
oboobboobboobboooboobbooboobboobbon
gboogobuogbbodbboouogugboooobobuogboboonn
OOobooooQQCboooooooobooooboooooboooog
OOO0bO0b0bOoboobobOodbloneloopd 0 ooboonoonoon
gboodbuoobooboobbobboboboobodgbooboboon
gbooodgbbogbobogbogboooobboobooboobboon
gbbboooobbboaodobbon

5.5.2 QCDUOODOOOOO

OO00DO0bO0O0oQCcbobOoboooobooboboboooobobooboo
gboodgbbobobodbuogbbbodboobboobuooboobbb
godddddoodoooooobooobbobbbbobbobbbbbbbo
gbogbboobooobuoobbobobbooboobobooboobn
DDDDDDDDDDDDDDDDuDDDDDDDDDD%@dDDDDD
—%DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD

gobobobbooggobooboobooogooboboobbouooooooboobo
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gbobbuoooobbbuoobobboooobbbuoooobbooo

gboooboooooobooo

guboboobbobbobobogbugboobboobbobbobobod
gboogodbogbooboobobooboobbooboooboobobo
gbogbbodboooobuooobbuoobboobobuabooboonon
OO00O0o00oboO0oboooQCcbooooooboooooboooobooog
gogoooobbobobbbbbbbbbbbbbbbbbobbbbobbbb
gbobbuoogoobbbugoobobooogobobobuoooobbood

on =l Z €0 = lipe <20'u1+20'u2—10'd> (5.42)
i=u,u,d 3 3 3
0000000000000 e,=2e0 eq=—t0 0000040000
0o00ooboooobdu 00000000000 000000000000
oooooooooo nO00O MOZ%DDDDDDDDDDDDDDDD

godooodooooooooooooo

2

Hp = Ko, Hn = —§M0 (5.43)

gbooobboboooobbbuoogoboood

(“p> =15, (“p> = —1.46 (5.44)
Hn theory Hn exp

gboobobuogbboobooobuooogboobobuooboboonn
googobodgbbodbooboobobuoobbooboboobobon
gboogbobuodgboboobuogobbogbobuoobooboooooon
gboodboobboobbooboooboobuooboobboboboon
gboogbobogbogbbbuogbbbodgbboobooobogboonn
goobooooooobod

gboboboogon

OO00O000000bO0o0o00ooobooboooecbooooooogon
gboodgboboobbodobuougboobobboobooboobbobon
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gboogbobodgbboboobbooboobbuoobooobboonn
goo
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5.45
olere — pp) o4
goooobobooooobbobobbodoooooooooooooon
gubotbuddooogoouoobobbobouboobboooooon
goooboboboobobbobobobtbodooooubbooobobooooooon
guddooooooobobbbboooooa

ete” = Jets OO0

O000efe —=Jets 000000000000 00 QCDOODOOOOO
0000000000000000000000000 ete” —qz 0000
gboogbobuodgbobobbuogbbodboobboobbboobbon
goobudgbobuogbobudgbooobuoobbodboooobonoon
goggoooboobobbbbbbbbbbbbbbbbbbbbbbbbn
gobodgbobogbobogbuogboboobboobuooboobboon
gbbobooobbobuoooobo

O0ooon JeeOooboobobooobooobbooobooooboobog
gbogbooobugbbooboobbuoobbooboboobbonon
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